Y=+ (1 -+ 4AK+1 ),/ 2K o]t}
2.0 ARY FEE Y/ (A-Y)r=edXFbXFe o magg
o 8XHFDXHC ko wow  KYZ-(24K+1) Y4A’K O] Heb. 23%
B M 2AXE FATY
Y= (2AK+1 - 4AK+1)/2 K

=A+{1-VvEAKFT)/2KE dr}.

10. 8% EthrelMes HAdvls o424 4% wAE ¥

(dFoldtdzdr4) (F3Hdx Fdd )

¥2u % dzE o]4A7 FoAdA = d54sd B F
Ftel @4 FAAECE dAEd dAF At oy 4A o]
. %2 F Ethrel A& Fao, 39 44 U4 FAAAH
A SES d5E Hista, dAF e myfaRd ARE
£zl &7 zp, A4ae ol48d =z 500,1,000ppm e Ethrsl
< Hested 2L Arlel #F F8F% x=HE(HFE1) 9 209F
BEE AR (HE2)E FAld o]dsty £33 AFEG A, M4
BE(6~74)9 sooppuAed T4 d5E 1.3~ 1,595 F
S, Addse(a2 1) A= A5, (dx2) 8vds 344 E

FEHRod, X4 Fo] dEstd Fue] A FrHden FiIL
q 5 st et



